
Name: Subtracting from 10000 (Skill 65)

Subtracting from 10000

1) 10000 - 7802 = 

2) 10000 - 4499 = 

3) 10000 - 3470 = 

4) 10000 - 4796 = 

5) 10000 - 5241 = 

6) 10000 - 3606 = 

7) 10000 - 3415 = 

8) 10000 - 4579 = 

9) 10000 - 8000 = 

10) 10000 - 8975 = 

11) 10000 - 9507 = 

12) 10000 - 1521 = 

13) 10000 - 4426 = 

14) 10000 - 1178 = 

15) 10000 - 5500 = 

16) 10000 - 9504 = 

17) 10000 - 5840 = 

18) 10000 - 1302 = 

19) 10000 - 8419 = 

20) 10000 - 7811 = 

21) 10000 - 7184 = 

22) 10000 - 4815 = 

23) 10000 - 3208 = 

24) 10000 - 5929 = 

25) 10000 - 1814 = 

26) 10000 - 8176 = 

27) 10000 - 6325 = 

28) 10000 - 9102 = 

29) 10000 - 5505 = 

30) 10000 - 6301 = 

31) 10000 - 2020 = 

32) 10000 - 6705 = 

33) 10000 - 4572 = 

34) 10000 - 5300 = 

35) 10000 - 6638 = 

36) 10000 - 2552 = 

37) 10000 - 5730 = 

38) 10000 - 4960 = 

39) 10000 - 1321 = 

40) 10000 - 9788 = 

41) 10000 - 4759 = 

42) 10000 - 3903 = 

43) 10000 - 9352 = 

44) 10000 - 5786 = 

45) 10000 - 1192 = 

46) 10000 - 9919 = 

47) 10000 - 4708 = 

48) 10000 - 6404 = 

49) 10000 - 9350 = 

50) 10000 - 3640 = 

51) 10000 - 7941 = 

52) 10000 - 6586 = 

53) 10000 - 2647 = 

54) 10000 - 5481 = 

55) 10000 - 3279 = 

56) 10000 - 4383 = 

57) 10000 - 3432 = 

58) 10000 - 2015 = 

59) 10000 - 2204 = 

60) 10000 - 2710 = 

61) 10000 - 6069 = 

62) 10000 - 8043 = 

63) 10000 - 8043 = 

64) 10000 - 9363 = 

65) 10000 - 1450 = 

66) 10000 - 5257 = 

67) 10000 - 8643 = 

68) 10000 - 1292 = 

69) 10000 - 9594 = 

70) 10000 - 1176 = 

71) 10000 - 7795 = 

72) 10000 - 8736 = 

73) 10000 - 7099 = 

74) 10000 - 1483 = 

75) 10000 - 6285 = 

76) 10000 - 9192 = 

77) 10000 - 8925 = 

78) 10000 - 6439 = 

79) 10000 - 2077 = 

80) 10000 - 6133 = 

81) 10000 - 1851 = 

82) 10000 - 4723 = 

83) 10000 - 1537 = 

84) 10000 - 6112 = 

85) 10000 - 7772 = 

86) 10000 - 4650 = 

87) 10000 - 7600 = 

88) 10000 - 1900 = 

89) 10000 - 3296 = 

90) 10000 - 8523 = 

91) 10000 - 1165 = 

92) 10000 - 5033 = 

93) 10000 - 5711 = 

94) 10000 - 1835 = 

95) 10000 - 5174 = 

96) 10000 - 1607 = 

97) 10000 - 9655 = 

98) 10000 - 1390 = 

99) 10000 - 8657 = 

100) 10000 - 4373 = 



Answers: Mark your work when you have finished.

1) 2198

2) 5501

3) 6530

4) 5204

5) 4759

6) 6394

7) 6585

8) 5421

9) 2000

10) 1025

11) 493

12) 8479

13) 5574

14) 8822

15) 4500

16) 496

17) 4160

18) 8698

19) 1581

20) 2189

21) 2816

22) 5185

23) 6792

24) 4071

25) 8186

26) 1824

27) 3675

28) 898

29) 4495

30) 3699

31) 7980

32) 3295

33) 5428

34) 4700

35) 3362

36) 7448

37) 4270

38) 5040

39) 8679

40) 212

41) 5241

42) 6097

43) 648

44) 4214

45) 8808

46) 81

47) 5292

48) 3596

49) 650

50) 6360

51) 2059

52) 3414

53) 7353

54) 4519

55) 6721

56) 5617

57) 6568

58) 7985

59) 7796

60) 7290

61) 3931

62) 1957

63) 1957

64) 637

65) 8550

66) 4743

67) 1357

68) 8708

69) 406

70) 8824

71) 2205

72) 1264

73) 2901

74) 8517

75) 3715

76) 808

77) 1075

78) 3561

79) 7923

80) 3867

81) 8149

82) 5277

83) 8463

84) 3888

85) 2228

86) 5350

87) 2400

88) 8100

89) 6704

90) 1477

91) 8835

92) 4967

93) 4289

94) 8165

95) 4826

96) 8393

97) 345

98) 8610

99) 1343

100) 5627
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